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The figure in the margin indicate full marks for the question
Section A (- *4l)

Choose the correct answer of the following questions.

(From Q.No. 1 to Q.No.45)

SETS W3 ST w% LesCo! A Tfeat

(ZM AR S T 791 & 7R 8¢ (FC)

The partition of Bengal is an important chapter in the Indian

independence movement, because -

29 oo OReq FAS! AT @b aFgee 7, FE 2

(1) The partition of Bengal took place during the region of Lord Curzon.
G I3 frere 329! [Feier seuite (afe |

(1) The decision to partition of Bengal triggered a popular struggle
against British rule in an all-India context.
st Rreiews Praigs oo R orsiebe b =ivre e oo
AN el wfafes |

(1i1) The partition of Bengal gave the British transparency and
efficiency in govemer.
329l et fHfbes PR (e Foesl ST rHe! en %% |

(iv) The partition of Bengal united the entire country.
es-Retet e (i G SR |

(@@ @) ®@ () (G Gv) (@G (v)

16 October 1905 was celebrated as a National Day of Mouring by

the people of Bengal for the following reasons -

S50¢ 59 S SI(IITF Werh ISR STota ¢xiiss was f2pite! #iew
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(a) A hartal was observed throught Bengal on that day.
(TR 378 991 (ele Zar et =it a5l Tl |

(b) On that day partition of Bengal plan was implemented.
TR RIS ~ARsa ) 51 2l |

(¢) Every household in Bengal stopped cooking in kitchen that day.
AP AR Tz G TR 9l < R |

(d) Rakhi Bandhan was celebrated in Calcutta on that day.
Fferrere cRfrm a1 75 olisw 1 22l |

Which was the first national movement under the leadership of

Mahatma Gandhi?

RN A (IO SRS (I 22 SIS SCea=s B wifiet o

(a) Sepoy mutiny (o212} frurz) -

(b) Swadeshi movement (¥} Szt

{¢) Non-cooperation (SPTET% SIITHieHw)

(d) Civil Disobedience movement (i3 ssiisy HTHIE)

. Thereason behind the partition of Bengal was to -

el [erems wafize Sy oifee) —

(1) United the people. (G114 oa5fare <4t)

(1i) Divide Hindu and Muslim. (f&% e feifers 7))

(i11) Provide independence to India. (S1e<e ¥i§kTe! i 1)

(iv) Strengthen the British empire in India.

@@ ()  O®)G) (i) (a6 @Gv) (d) (i) (iv)

Which statement is true of women who participated in the Swadeshi

Movement ?

FOPN SIS Seeieize 391 71919 (e (FICH! Tfe o7y 2

(i) They participated in the movement on an equal fooling with men.
(OETHAS "I TS AT FAN HTHITTS Sieeiazet e |

(if) They participated in the movement instead of men.
(OETENE %1 T TS iexisrge! R |

(iii) The British felt that they were a danger to the British.
@@m@ﬁ%mﬁﬂ%ﬂmwiﬁﬁﬁwww |
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(1) Dandi March (%1f% 1ar) 2 1930

(i) Rowlatt Act (ste=15 iZ) ¢ 1920

(i1i) Chawrichura incident (BIRTEIARTB1) 2 1922
(iv) Gandhi-Irwin Pact (211} siaie s i) s 193]

@@ @) @i b)) Gi) Gv) ©) Gid) Gv)  (d) i) (i) @iv)

. Arrange the following incidents in ascending order -
TR AT e Srwiar |
(2) Indian independence Act —Local incident of Champaran —
- Demand of Purna Swaraj — Chaurichura incident
| W@?W-%Wmmﬁ?frm 71— G
CBTRIR a1 | i
(b) Local incident of Champaran — Demand of Purna Swaraj —
Chaurichura incident — Indian independence Act
WWW—)’[‘{WW——) IR bl 551 s
ORS T8 wfzw |

(d) Demand of Purna Swaraj — Indian independence Act —
Chaurichura incident — Loca] incident of Champaran
AT ore P iz R CRARGA - 5=sifelq
NI S5 |

- First Governor Genera] of Independent India -
T ST &2 oo T
- (a) Lord Canning (s1¢ zsfaie)

(b) Lord Mountbatten (318 B racs) |
[3] _ Contd....




10.

(c) Mahatma Gandhi (32151 1)
(d) Jawaharlal Nehru (SR123e11 (1%2%)
Which oftthe following options is not correct regarding the Rawlat Act, ?
FGFG SR FNF Go14 (ICH! Riws @ 723 9
(a) In 1919, the British government enacted the Rawlat Act.
5555 579 {4 591T Aesiis @iz erome wfRe |
(b) The Rawlat Act gave the government the light to imprison people
without trial.

AT 3w TR [ R TR fivest sRate saies
R 2 TR | |
(¢) Gandhi started the Saryagraha movement in 1919 in protest against
the Rawlat Act. ,
SR e SR e 585 IS AG RN CHIT S FR |
(d) Rabindranath Tagore renounced the title of knight' conferred by
the British Government in protest against the Rawlat Act.

GG %574 effeains T areital S Rifbm e et CIEE

The above picture refers to the protest procession of which of the
following movements. i
SR RIUT O (FICD! SICHER AR cireriare — . 8
(a) To the anti-simon procession. (235 Rzl &R TIE) -
(b) The protest march of the Quit India movement. ‘
SE OISl WCHIEE 2AfSanT eireraral
(¢) To the procession of the Dundee journey. (ifé: gtara >Ireriat)
(d) The procession against the Jallianwala Bagh massacre.
GIfETRIRIE W Zeneies Res eore il
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11.

12

13.

Consider the following statements about the Quit India Movement.
Which of the following options are correct about the movement?
O OISl ST KA were Tl B %5 fnm s |
SR R ©eTe frat Resaars s s 2
(i) The Quit India Movement is also known as the August Revolution.
SIS 1ol SR SofB: e Tes s A |
(1) Salt laws were challenged. ( (=iie =ii37a fzaifire) C2fw=)
(iii) The movement was launched in | 942.
>58 bS G2 THIE TTE T4t 12f%eT |
(iv) The slogan of this movement was 'do or di gt
A ST Gt Sifee — ‘SR Rt W |
@@ (v) (b)Gi) Gii) () G) (i) (i) (d) (1) (iii) (iv)
The name of the newspaper published by Mahatma Gandhi while in
South Africa -
i SifEere 2 S s MR Yo e imes =1 wifes —
() Hitbadi (fRearl)  (b) Huprobhat (3-¢fere)
(¢) Bengali ((3%9%T1)  (d) Indian opinion (3 i )
Assertion (A) : The monetory economy introduced by the British
government caused strong dissatistaction among the common people
of Assam.. !
% 2 fafbe bep1ts eies 391 ot o S S 2q 7@
Sig wprefa 3 i)

Reason (R) : This monetary economy created this usurious mahajan

. class that oppressed the Assamese people.

RETER LIRS Da b (R S R TR o RO S —

AP I e |

(2) A true, R false (A &%, R ©i=%)

(b) A false, R true (A 1% R ©7%)

(c) A and R both true, R is correct interpretation of A.
A% R ToLF 9%, R, A T315% 17t |

(d) A and R both true, R is not correct interpretation of A.

[5] Contd....
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A% R TS0 o7, R, A 9 59 7107 7723 |
14. Yandabo Treaty was si gned between East India Company and the
Ry fF 28 2w @A S e qrERe taf |
(a) Ahom King (WitzMs®1)  (b) Kachari King (32]) 3%i1)
(c) Chutiya King (51 3&7) (d)King of Burma (315 31)
15. Themia-l}dngreamnﬁ)rﬂleasolitionofslavayinAssambymeBﬁﬁsh
fafbr= wpres et aiet ey wam GRS Fied
(a) The Assamese elite people were comfortable.
ST ST adfia sz e i |
(b) The British granted freedom to the slaves.
I ST T 2l R |
(c) The life of the Assamese slaves was very difficult.
ST A1 T4 Sl 99 89 e | X
(d) To fullfill the shortage of labourin newlyopmedteaplamaﬁormfgmdms.
TN (e B12 AR JIE Tre1 73 FR1 [piffee |
16. Who was hanged along with Maniram Dewan for sepoy mutiny ?

ooirg} Rrwres wstarers s (RIS 151 S16 16 2151 it (e 2

——

—_—

(a) Piyoli Phukan (f#af 3zs)
(b) Piyoli Baruah (fofafey 7es)
(¢) Bahadur Gaon Burah SIELERIE )
(d) Duti Ram Baruah (7fe41s 2=m1)
17. Match the following - (%" Sixi 7757w 4’ e et —
(A= (B)-4
(A) Revolt of Jayantia (1) Revolt of Jayantia
TSR Rrurg G5
(B) The North Cachar Rebellion (i) Tikendrajeet
Yes 3ige Rz Droafers
(C) The Naga Rebellion (111) Sambhudhan
TN TP Ricarz g
(D) The Manipur Rebellion (iv) Ukiyan Nabah
iasjeq Rarg Bz Tz
(@)A- (iv), B - (iii), C - (1), D (ii)
: [6] Contd....




18.

19.

20.

(b) A - (ii), B - (i), C - (iii), D (iv)
(¢©)A-(i), B-(iv), C-(ii), D (iii)
(d)A- (iii), B - (ii), C - (iv), D (i)
Which of the following organisations was not formed for the
promotion of Assamese language and literature ?
WWW%WW—WWWW@@W?
(a) The Asomiya Bhasa Unnati Xadhini Xobha

SPTTRI St Tafe T e
(b) Assam Chatra Sanmilon (577 914 )
(¢) The Gyan Pradayani Sabha (@i 2wz} s1et)
(d) The Ryot Sabha (331® el)
Which of the following options is not correct about the Asomi ya Bhasa
Unnati Xadhini Sabha, '
ST ORI TS AR st 7o wera (PITCE! faemmy wm wwzz -)
(a) It was formed in 1888. (Stbrb bee 3 s c2feeT)
(b) Its purpose was to promote the Assamese Language.

SPTI ©1AR Tafe SMew 91 2019 By wiifee |
(c) Its first editor was Chandra Kumar A garwala.

FAIS AL T it barps Sisie |
(d) Jonaki was its mouthpiece. (% 2@ witfesy (oriae )
Match the following - (‘% Siexi #1sf “y” wpex) =TT —

3’ 54
(1) The use of Bengali in Assam (A) 1933
OIS I I 2AbeTe PNUI)
(i1) Formation of Assam Chatra Sanmilan (B) 1884
SPT] R A 51w Sbb-8
(iii) Sadou Axom Ryot Sabha (C) 1836
T ST IS ! SOy
(iv) Jorhat Sarbajanik Sabha (D) 1916
(92 FEE 1 ol PN
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21,

22
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24,

25.

- (d) 26" December, 1949, (R o559 s58y)
23.

(@)(1)- D, (ii) - B, (jii) - C, (iv) - A
(b) (i)- A, (if) - C, (iii) - B, (iv) - D
(€)()- D, (ii) - A, (iii) - B, (iv) - C
(d)(D)- C, (ii) - D, (iii) - A, (iv)- B
When was Assam Provincial Congress Committee cstablished ?
ST ST Rteg SfG (e aifed 2o

(a) 1885  (b) 1905 (c) 1920 (d) 1921

The Gauhati University was established -

CMRIGT Restfevpiers etfdt o (2feer —

(2) 26" January, 1948, (3v TREIS 3381 )

(b) 26" January, 1949, (3 Gt 5585)

(€} 26" December, 1948. (3v forswa S58%)

Why is a democratic government regarded as a better choice over
other forms of government ?

(i) It promotes equality among citizens.
2R e e i@ w1 |
(i1) It ensures economic development. (3919w Aoifs Afss FE)
(iii) It provides a method of resolving conflict.
B AR 11T Bl ol sty I
@ @) (i) (b)() (i) (c)(ii) (iii) (d) (@) (ii) (iii)
Who among the following was notamember of the Drasting committee
ofthe constitution, -
O (PIER AR A5 B 3 e 2
(a) B.R. Ambedkar (R w1 s war)
(b) D.P. Khaitan (f&.f3 22wt
(¢) Dr. Rajendra Prasad (T AT 2oyw)
(d) N.Gopalswami Ayyangar (€. (slifieTrs HIRR49MF)
Which oneofthe following tederal characteristics ofthe Indian Political
System is true ?
TS firsll O1aes TeR1g Tt IR (FRD! % 2
[8]



26.

27.

28.

(a) It is inspired from the constitution ofthe USA_

G JRIIH! S Wt wiw) eerfe |
(b) The central government in India is more powerful.

ST (FH HIPIT Wfe =i |
(¢) Provision for dual citizenship has been granted.

(@S Asiferes 7! Azl 41 20T
(d) Constitutent states have the provision for separate constitution.

R0 AP e <R <2 a7l 41 3|

India has been decleared a "Union of states” in the Article No of
the Indian Constitutions.
ORSI FR[T  TR Smere SReaE G2 e ERES R
e caraet <=1 txrm |
(a) Article No - 2 (R SET=%)  (b) Article No - 1 (52 Se](5%H )
(c) Article No - 3 (o= Se[tbaw)  (d) Article No - 5(e =2 RG]
Suppose you have a duck and you need sugar. Your friend has sugar,
but he doesn't want duck, he needs potato, but youdon't have potato.
This problem in barter system is termed as -
aﬁmmmﬁimwmcﬁ@mrwm
TSS (541 ST, (5% (o€ 3= a3, (9€3 AT W, g
OIS i =113 |
e eteim @2 SR @k e —
(a) Lack of double co-incidence of wants. (35S Tol9)
(b) Lack of common unit of accounts. (25t Sz < =rwiq)
(c) Lack of divisibility. (ReEaimem sreiq)
(d) Difficulty in storing value. (74 @i 1<a wpjfaa)
Arrange the five stages of evolution of money in choronological order.
IR GRS o7 A5 @ piIE s —
(i) Barder system. (fafes &12iy) (ii) Animal Standard. (&)
(iif) Metallic Standard. (e 419) (iv) Paper Money. (15157} )
(v) Coinage. (¥1g at)
(@) (1), (i), (iv), (i), (v) ~ (b) (i), (i), (iii). (iv), (v)

[9] Contd....




29,

30.

3

32

(© @), (i), (i), (v), (iv) ~ (d) (i), (i), (iv), (v), (i) -
10 rupee coin is an example of - (o G5hl] PR GO THizse ' =)
(a) Hot money. (©o1® @)
(b) Dear money. (3535w Jaiq)
(¢) Legal tender money, (Rfzw a9)
(d) Non-legal tender. (SifZfz® &)
Which ofthe following is not a function of the Central Bank ?
TS (P! (PR (9539 PP 7123 9
(a) Issuer of currency. (F151&) 41 %9fl 354)
(b) Custodiam of Forei gn Exchange Reserves.
i RNy Suie v
(¢) Creation of debt currency. (14 JuI¥ %f%)
(d) Banker to the government. (b5 @)
Consider the following statements and choose the correct answer.
O GGTR (5141 W1 % Taah] A% Bhyea —
(1)A cheque is a non legal tender money. ( (5 43 SJfZe Tt
(ii) An individual can refuseto g accept cheque.
TG G (5 2 TS A7 |
(a) (i) is correct and (i1) is incorrect. (i) 2% =% (1) Su%)
(b) (i) is incorrect and (ii) is correct. ((i) Srg =i (i1) &wm)
() Both (i) and (ii) are correct. (1) ©I1 (i) TER512 wm)
(d) Both (i) and (ii) are incorrect. ( (1) S (i) BT e
Which of the following are the subjects of agriculture geography ?
O (PN R Sraifers Rramawg
() Types of Agriculture. (339 <51
(ii) Sustainable Development. (%S Ty )
(11i) Conservation and management of resources.
A AT IZI%A] |
(iv) Distribution and method of agricultural operation.
PR Rrowe o s |
(@) (i), Gi), (i) (b) (i), (iii), (iv) (©) (i), (i) (d) (i), (iv)

[10]
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34,

33

Rahul eamns a aliving by driving auto rickshaw. His occupations
belongs under -
WW@@WWW@@&WW (TS #ffam 2
(a) Primary Occupation, (212 3fe)

(b) Secondary Occupation. (Fe s Ife)

(¢) Tertiary Occupation. (9€ 3fe)

(d) Quaternary Occupation. (v9¥=3fa)

Countries like J apan, Switzerland, Taiwan etc. are the most advanced

and prosperous countries of the world though these countries have

searcity of resources and raw materi als, because -

Floi, WWWWWWWW )

AT SR 45 e 2R P e 1T} it STt e,

G —

(1) Rapid development of human resources, (372 WS G a7m)

(if) Sufficient man made resources, (S-338 F =27 AT i)

(1i1) Sufficient renewable resources. (FIIFLEITIY T AR HR)

(iv) Advanced in education. technology and skill.

e, 23 wire ssfirpers SIS |

(a) (i) and (ii) are correct. ( (1) ©1=E (i) u%)

(b) (i) and (iii) are correct, ((1) &= (iii) =)

(¢) (i) and (iv) are correct. (1) &= (iv) %)

(d) (1), (i), (iii) and (iv) are correct. ((1), (i), (iii), (iv) ==)

Consider the following statements and choose the correct answer.

%9 BT 2151 Wil % Te05] 11 Sipear —

(i) Resource is dynamic. (37~ AfSe s )

(i1) Resource which is harmful for today for human society and same
may not be used for human welfare infuture.
ﬁmwa@mmwmﬁm, (B! w3 e
MR SRFeS 9213 391 A |

() Only (i) is correct. (I3 (i) =)

(b) Only (ii) is correct. (@< (11) %)

[{119 Cond....




(¢) (i) and (ii) both ;tre correct. ((i) 9% (ii) TTAGIZ w%)

(d) (i) and (ii) both are incorrect. (1) @1 (i) yrab i3 v )

36.

37.

38.

s

Match the following and choose the correct option -

©oTS AN ARl @i s Rewest stew vy
(1) National Resources (P) Based on process of ori gin
GIORI ST % afew s
(ii) Biotic Resources (Q) Based on Structure
(i1i)) Man made Resouce (R) Based on availability
(iv) Renewable Resouces (S) Based on ownershi p
TRIFRITNN ot NES e fofe o)

@O-R)  (()-(Q (i) -8 (iv)-(P)
®O-)  ()-@Q iii)- () (iv)- (R)
©G0)-6)  (()-Q (iiy-®) (iv) - (P)
@@)-6)  G)-P) (i) - Q (v)-(R) -
Which ofthe following s an example of a local environment problems ?
ST (IO TR AR T Trrizaet o
(a) Flooding in the Brahmaputra Valley, (F17(Q o epIa Aot
(b) Land Pollution caused by a small scale industry.
FE SR P9 (211§ e |
(¢) Problem of underground water shortage in Guwahati.
BAIGR T-91C%F AT AR 5771 |
(d) Water pollution in a vast industrial region.
fRetter Srmifore wteeere ot 7Y |
Which of the following statements are true about desertification ?
TP AR Oo G 2 e ¢
(1) Desert and desertification mean the same thing,
TG I Tt o |
(i) The process of desertification reduces land productivity and
contributes to the expansion of deserts into neighboring areas.

WWW%&WW@WWW*@
[12] Contd....




39.

40.

41.

TGN WRpTReS SRt e |

(iii) Desertification is mainly caused by human activities such as
overgrasing, deforestation and expansion of agriculture,
NFFIN Y PR 2 g Sfowial 53T #f2lfE, Ieest @,
R TR =i |

(iv) Global warming and drought arc important natural factors
contributing to desertification.
CNETFT Tl I Wi AN SehaeTS SRR st aggeyef
AFfes e |

(a) (1) and (ii). () ®= (i) )  (b) (ii), (iii) and (iv). (i), (ii1) =01 (iv))

(¢) (i) and (iii). ((i) &< (iii)) (d) (iii) and (iv). ((iii) == (iv))

When excessive amount of Sulphur-di-oxide and Nitrogen  in

atmosphere. -

TRANSTS ARG SEES AAS Ieria-TiE-orm2e oI A% o

LA, cofemt WG|

(a) Desertification (I83¢})

(b) Pollution (2vze)

(c) Global Warming (5112 Tatel )

(d) Acid Rain (@fowzag4)

Which one of the following is a natural factor that contribute towards

polluting the atmosphere.

I G Ao Fiad g5 —

(@) Flood (3i==iie1)

(b) Tsunami (5137

(c) Industrial smoke (TTwiifars cairar)

(d) Volcanie erruption (S TwsTiae)

Neutral stuffs are - (fAfe=g Fwdicam 2°5) —

(a) Useful (S2=01)

(b) Harmful (Si=piS1)

(¢) Neither useful nor harmful (T=i</S) wiies wioiiS) @Bre 23)

(d) Sometimes useful, sometimes harmfiul (RIS, e sprad)

[13] Contd....




42. Theislands of the pacific ocean are - (FIFILASTTZARTZ ) —
(i) Japan. (S#W) (i) New zealand. (R®fetae)
(iif) Iceland. (S125C=18) (iv) Philipine. (FFiiE)
- @), G, G ®)G),G),Gv) (o)), (i), (v) () @), (i), (v)
43, Match the country with their capital :

ST (TS P ficemal —

(a) Bhutan - (i) Kathmandu
GO LY
(b) Pakistan _ (ii) Colombo
AfFE FaCE!

(c) Sri Lanka (iii) Thimphu

sl e
(d) Nepal | (iv) Islamabad
CRaiGH - RENRw

(@) (a-iii)) (b-i) (c-i) ([@d-iv)
®)(@-ii) (b-iv) (- (@-i)
(©(a-ii) (b-iv) (c-u) (d-1)
(dy(a-ii)) (b-iii)° (c-i) (d-iv)
44, Which sea has separated the continents of Asia and Africa ?
afea Ti% SfEFF TS @A TR 9 IR0R?
(a) Mediterrancan Sea (g% Al99)
(b) Casoian Sea (=T 1159)
(c) Red Sea ((e1ifE® 1419)
(d) Arabian Sea (SN 3159)
45. Arrange the oceans from small to large.
T4 o]l ©I6RTE NG e 2
(a) Atlantic Ocean —Indian Ocean — Pacific Ocean — Southern
Ocean — Arctic Ocean.
GHeAoF PN >OS TG 2T W‘ﬂ?—-ﬁfﬁﬁ
AR T A
(b) Southern Ocean —Indian Ocean — Atlantic Ocean — Pacific

[14]
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52.

53

54.

DD,

56.

57

fararzs faacy faa

Write about the contribution of the Assam Association to social
reforms in British ruled Assam. 4
iR Graifered Jibe =R ST TS HEHIES 0T FGEI
SRV AT ferall |
How are natural resources important for humans ? Write aboutb any
three methods of conservation of natural resources. 2+3=5
TR[2A AI74 AIPRoF T (@10 ST ? APIOT 799 LT
Riie fofRG »mafes R forar
How does industrial waste contribute is environmental pollution ? Give
one suggestlon for its remedy. 3+1=4
T RGAIRIE AR SE (S wﬁw @R TR
ARSPINT I GBI A SO |

Or (FI1Z0)._
What is 'Global Warming' ? Suggest three suitable measures to check
global warming. 1+3=4
coleTRTY Tl Wit (6 2 (ST TRoe! (@14 19 AR Fofb! Boia
s firgtt |
Briefly write about the geology of the ocean floor. 4
TGS SfeTeisq ©-uaEd W fordi |
For what characteristics Indian Federal system is termed as cenh*a]xsed
Federation ?
(BRI (AT A TSI THAG T IITE (FHo© IS4G q%
RICIECESREICY
Mention two differences between banks and non-banks. 2
RT E S1- (AT TS 4F! 151 A1 Trad 91 |
Mention the functions of NABARD. 3
NABARD 9 {532 S(H< 341 |




